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O Gy AT pg (@51 . %)

20234 20224
2 =2 (%)
a0l 014 202 01
p] 9% 23(24.0) 87 16(18.4) 15.6
g | #3223 90 21(23.3) 83 15(18.1) 15.2
L=k 6 2(33.3) 4 1(25.0) 18.3

%z 57 o{MRAE: (19 27.3% — (20) 19.7% — (21) 27.2% — (22) 184% — (23) 24.0%

[ HgE g4} ¢g (29 &, %)
o 202344 2022\ =2+ (%)
Al 96(100) 87(100) -
20 ~ 24Al 13(13.6) 14(16.1) 12.5
25 ~ 29Kl 61(63.5) 55(63.2) 10.3
30 ~ 34Al 17(17.7) 15(17.2) 10.5
35A1 Ol & 5(5.2) 3(3.5) 1.7

oA 27.7M(2214 27.3M))




O M2XAE 2 A3 X Ets SH

sA X

QIS o= S e
IAHSHY 13 89.74
S (LEAH) I AHE A 13 93.04
Mz st 13 58.79
MOIXD| & 12 83.05
DQIRI(F D)) 32012 12 88.16
212171 12 76.08
StEE A 10 90.36
SE2(33) HEEY 10 96.76
S atst 10 67.70
INE=P IR 3 77.11
sgA(eetsg:d=) sHFLE 3 82.66
H Bh & 3 70.99
A2 S 2 65.16
s (LesY:XH) sHFIe 2 74.83
KHHH &t 2 73.99
Zgst 3 60.55
S (METHH) S 3 72.44
geg3a3gs 3 66.77
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SR Cel e el E;j BI il%lji_xl BH
GIOIEfHI Ol A 2 5 89.66 2:22
X AHE (G 01 E) HEESE 5 85.66 2222
TE=VS 5 78.00 2288
R 2 60.16 2;22
AR (HEES) HESI ot 2 55.33 iigg
ATES0IDS 2 65.99 ;:22
®II K18 13 78.07 123:88
S INEIEINPIES) S40|2 13 81.76 3222
SOOI 13 75.88 2128




